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:()span style="font-size: 12pt">def setGlobalScope>.1

global scope .2

scope = "global" # this is the global .3

4

:()def setScope .5

scope ="local" # this is the local .6

7
:()def printScope .8

print(scope) # this is the global .9
.10
scope = None # this is the global . 11
()setGlobalScope .12
()setScope .13
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:()span style="font-size: 12pt">def printScope>.10
!print(scope) # Error.11
scope ="local scope" # this is the local . 12
.13
scope = "global scope" # this is the global . 14
<printScope()</span.15
o9l 50 02190 4uj s> L UL (g 00l s g2l L. 16
span style="font-size: 12pt"> RESTART:>.17
D:/sokanacademy/Python/error.py
:(Traceback (most recent call last.18
File "D:/sokanacademy/Python/error.py", line 6, in.19
() printScope .20
File " D:/sokanacademy/Python/error.py ", line 2, in printScope .21
Iprint(scope) # Error.22
UnboundLocalError: local variable 'scope' referenced before assignment .23
<span/><<<.24
.25
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False not True

True not False
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True
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(or(5>4 (4<3) <<<
True

(and (5<6 (5>4) <<
True

"not"a" =="A <<<
True
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:if age >=20

:if age <30

(",print("You're in your twenties

("'print("Enjoy it
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("<--(foodstuff = input("Please enter your choice(rice,cheese,egg

:"if foodstuff=="rice

(".print("lt costs 10000 Tomans per Kilo

:"elif foodstuff=="cheese

(".print("lt costs 5000 Tomans

:"elif foodstuff=="egg

("print("It costs 500 Tomans

:else
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RESTART: D:/ SokanAcademy/Python/ifElse.py Please
enter your choice(rice,cheese,egg)-->egg It costs 500 Tomans. >>>
RESTART: D:/ SokanAcademy/Python/ifElse.py Please enter your

<<< !choice(rice,cheese,egg)-->meat | don't have in stock
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correctPassword = "SokanAcademy" password = input("Please enter the password --> ")
while password != correctPassword: password = input("Please try again and enter the
("!correct password -->") print("Welcome to SokanAcadmy.com
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correctPassword = "SokanAcademy" password = input("Please enter the password --> ")
while password != correctPassword: if password == "I've forgotten the password": break
password = input("Please try again and enter the correct password "+ "or type:I've forgotten
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"correctPassword = "SokanAcademy
(" <-- password = input("Please enter the password
:while password != correctPassword
:"if password =="I"ve forgotton the password
(" <-- email = input("Please enter your email to sent you correct password
(print("The password has sent to",email
break
+" password = input("Please try again and enter the correct password
(" <-- or type:I've forgotton the password"
:else
print("Welcome to SokanAcadmy.com") # Run if didn't exit loop with break
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Please try again and enter the correct password --> SokanAcademy
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print("Athlete", item[0], "is in average weight.") else: print("Athlete", item[0], "is heavy-
(".weight



gl  pujgol
UL yujgo <

gl o 63 30T 5o sunbiud Sy EL T g owlsl > 3gub JLETTOr 3595 L oS S 0 jgiwd j 68 puidS ¢l jl G
iN 3,925 jl a2y 65 (gl 8Jlos gLacl jl Sy o wig) JUSS by > pustio ol .Cuwl item osub oslatiuwl (g ool
6bacl j1 Sy b 3 gl (5653 5 62 S (394 50 o Cuwl WeightList cuud glas b ool 5> g 30T 5o
o b g item jusio Saiwes o S 395 WeightList glacl oS b Gl 1308 o JUS Gaye 3590 o ¢l
295w b g y 89 (5 owatio 63 Gl Jgl guac oy item[0] jgiws L 6S 39 ;0 Luwiio gaac 93 b o Sy
S (50 15y i Cawl j i jyg ()jg oS T g guac oy item[ 1]

G0 JUB Gy )90 J b g 4o (g b item jusio pgs guac b b (sl ygiws jleslaiwl b for wigl g essy 5
33 1y ooy 3eid 50 L L29s5 4> UT b cowliio Pl 33S G3uo o by jI Sy g 43 68 53500 4> g 358
1392 SadlgS o j JSub 60 yT 5295 68 oS oo [zl g 6453 ListLoop.py Jaté

RESTART: C:/SokanAcademy/ListLoop.py
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.Athlete D is heavy-weight
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.Athlete F is in average weight

<<<

cuud slgian yivlpg

o0l gbj u> b gT ygud (5lgimn oy wyiws g wiyyss 5 6920 9 Lo Cuwul pggao L addS gle ivjgol 4>
L ol 30195 5o ) 95 jl e b ST oSy iy e I Gug 68 305180 Cuwl > pasai LT Python usgs
So 39381 T 4> Yo pinT Sy s &yguo 6 33195 (0 o S Ginlg -35S Uil 395 jLo gubwl g
G S 03ub Cay et Uiy 1 5l S8 SaS ag cududs 5 L3l T eUSI I paT oo Wis b gl ow suse pal
Read ««slxl» L Create jl cuwl &jlae 65 CRUD Wil puslgs ;0 <3S ;o Joc b Cuud (595 65 gginh
w2 00 Ubjgol ol g .S ol b T 59y L «ud3o» L Delete g «slwyjgy oo L Update c«yaolgs» L
iS22l oo 65 list ko IS £ 5l -E2jld sz oo 1 ot (595 03wl o5 gl iS58 (g5 ogo jl S
230180 S5 5 1) Gl 630 oo Cud €9

[1=listl<<<

Slass psles o 1en() (uiSsld jl eslaiwl b (Lo o 00 35130 (gguac 2us S ozl daioy o0 63 b las
o2y g T CaawS oy | (St oJLos Guiz I s Caund (592) S Jgb b i sbac|

(len(list1<<<

o

J2J ©yge0 o0 append() GsSald IS ol (5l ¢ouiS 68lal Cuud ol 60 (53032 T puslgsy SuS (o8 JLb
;S (o o latiwl

("list1.append("egg <<<



gl  pujgol
UL yujgo <

WS S I o s wiSuT auges Sy (59 @ppend() silo s GiSald .5aS s UL jgiows opiibigs )8 oy
ST b gl 3 68 gl o [ 395 jhy 3 g0 ST Iaml e GiSold g ool I o3laiwl gl 2590 o L
oo 1y Jhy 390 piSslE oS (T g puygl oo - caole Sy T (g owlsl s s ol liStT jastio oy 050 631> el
€9 w2l b osiyl slo ijgol J3) pamugs o cuwl append(“‘eggd®) b uxl s oS ul slo ylogS)T ol
B 6S i U @S oo 319308 Isazo 1) listl UL jguws (gl jI guy (i pasles LubT 35 iy 51g>1)8
ol 0358 1300 9o s (519520 > (53085 02 (T 9 SIS ol Gl

list1 <<<

['egg']

(len(list1 <<<

\

392 0 WiB oS i ol Jgb UL g il o3 08Ul listT oy 'egg’ Sou il S 0 52915 4> 85 Jgb ylos
GHSOL ol jleslaiwl b .aaS 5o 6053 Cuwd S s 1 ylade Sy append() guiaSold bl cCuwl 1 U sl
1S (50 03153 395 i S |y (5550 Juslio

("list1.append("meet <<<

("list1.append("tea <<<

("list1.append("rice <<<

list1 <<<

['egd’, 'meet, 'tea', 'rice']

2301185 415 5> 1) G ol pgaw guac

[list1[2 <<<

'tea’

Sl odls jblSs oy

el gl UL JUio o 13J e300 JLET jaun e jI b Cund o sl Uiyl «Python uwgs solys gbj g
Se B 3 b 1 P Sl pgan guac oy

SO pusos 65 Jgb los .S 6dLal Cuwd 6 guac ol I JiB 1) g3use ST paslgy suS yays
S estaiwl Jbos og 3l 3590 ol g (rlply )5 5o adlal Cuud lgisl 5> 1) suao glacl append()
Ozl jleslaiwl g 0920 .33 Lo 418 Lo jLusl s |y insert() GuisSsld IS ool gl gl -eadbl 5Sed pisSsls
2wl g Gyguo oy SSLS

("list1.insert(2,"bread <<<

gac S JL3 Jzo gugssl Jgl ylogS T s S 0 53979 ylogS T g insert() uibSsld cauiy o 65 jgb jlos
o Ealg> ;0 68 Kl (53035 gac Gl > logS T g ol 6idyS JIs 5> ) P 1> gzl 43 68 Cuwl K §> S35
i oo INSErt() GubSold sl I jI gy by gT el list1 justio lg318 L gaSI .pusS 68 Lal

list1 <<<

['egq’, 'meet’, 'bread’, 'tea’, 'rice']

230185 1Y 5 |y gj ygiws Jb

Olist2 = list1.copy <<<

S sl el 031> eyl gTow |y listT 1 oS Su g pul 0355 Skl liSt2 (5 ounlivdh b (53032 jukio giaws ¢l 4>
.2l 031> gl list1 g9y 1y T g 63,8 eslaiwl cOpyY piSold jl list1 ¢S



gl  pujgol
UL yujgo <

1391 3195 4 j <jguo oy liSt2 glgizo ¢gaS|

list2 <<<

['egg’, 'meet’, 'bread’, 'tea’, 'rice']

Syl 395 Cuwd (59 b G Wal 3890 K jgu0 0 EalgRy 63 @S (50 o3likwl iloj COPY piSIl jI ulil
0 09 ) JS Lk Cyguo J> > -39 Juks J 12 Lo lol o 63 T g9y uiS Lol | (53190 9 S
ST guae paslgy 308 yoyd Jlio gl S oS oudgl w3 1) ¢l slgize i b paiS B3> 1) ol pusles
;S 0 Joc g Cyguo o IS ozl sl S B3 | list2

("list2.remove("rice <<<

GSoE Lol osls plal |y 35 jhy 390 Slidece [ist2 g9 remove() issld ayS Jlael b b gl g
Subly ociibls i8S LS 5o B3> S I T 9 35 o glogSyTylgice oy |y Cuud (glacl jI S remove()
il 63013 ) Cygus o0 [iST2 (gaST .o T ool 65 Cuwl G jl guace T 3g5 (ylogS Tl 68

list2 <<<

['egd’, 'meet, 'bread’, 'tea']

S

QS8 oy (53959 UlogS)T Ylgae oy Uiy G guac oS |) SIS T puslly JSI oS bl owbls 6295
.30l paslgS 6olgo ths L passs remove()

295w 52l b ol by (o [iSt2 guac rice” Sug piawl 9aST UL (g 0SS (534S s (gl
("list2.remove("rice <<<

1S (50 8Ly ) JSol 0y 2 lhS PRy

:(Traceback (most recent call last

File "<pyshell#21>", line 1, in

("list2.remove("rice
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["colors =["Red", "Green" ,"Orange", "Red", "Yellow", "Green", "Blue
" = colorSelect
:"while colorSelect.upper()!="QUIT
(" :colorSelect = input("Please type a color name
:(if (colors.count(colorSelect) >= 1
("!'print("The color exists in the list
:("elif (colorSelect.upper() !="QUIT
(".print("The list doesn't contain the color
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Please type a color name: Orange

'The color exists in the list

Please type a color name: Green

!The color exists in the list

Please type a color name: Purple

.The list doesn't contain the color

Please type a color name: qUIT
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{"menu = {"breakfast":"egg", "lunch":"rice", "dinner":"salad
250 g lo3oSeS 5aS By w088 13 T s i T I oS ol eidlu (g puiiSys g9y jl ST So b ol s
0 630 o Jlado ugw 9 (1) by 95 Cwole Gl jI guy 9 35T 5o 3lS a0l o3l Cud> s by 6gS>
s dinner g <breakfast: lunch ustEo b ols Sou jiawl aswdS b ol Js 366 50 631> 18 sUS
231 518 Jhiso 1) SIS (56050 95 3oL lasdS Ll gl
L2 «pas 4,8 breakfast glwsSy (5 suwlbud b 3dS 95 3,05 UL JUio o 65905 gl -2l LSy ub basgds -
22l 9 338 (50 JBY 53 1) Sl 830l cutino S5 3590 SulS 6g 68 | gy1nE0 ST Uginl jwmdo Ciygas ol S 83
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L siiws ol gbj Jd p3gUpms Ll b s ST |l paasS ool 1 Glng 68 23S o3l Sy yiwl
oS oy s T glgize o posles 5o (oSS U lg>))8
menu>>> menu <<<
{'dinner': 'salad', 'breakfast': 'egg’, 'lunch': 'rice'}
{'dinner': 'salad', 'breakfast': 'egg’, 'lunch': 'rice'}
o Joe g JSaib 69 oS Iy i gpaliSos gl g3 gl Jlnio 6o 3oUS S, jl eslaswl b puslgsy jSIJL
$ES
['menu['lunch <<<
'rice’
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()menu.keys <<<
(['dict_keys(['dinner', 'breakfast’, 'lunch
1335 I Gaugtiows UL gl ol 1Sy y oy bgy o soslio oy ylgs o juo fOr puis jl 2 6dlo b I
:()foritem in menu.keys <<<

("." + print ("We have " + menulitem] + " for " + item
ol g JSui o UL S jo jgriows jl Joo s 295
.We have salad for dinner
.We have egg for breakfast
We have rice for lunch
323 S 0 0195 (50 ¢ gpaiiSyd ST Sy (5lgin0 5 s gl -l jadg ks (5050 (5 031> 99 68 ouiaS
23S Jas
"menu["lunch"] = "meat <<<
menu <<<
{'dinner': 'salad', 'breakfast': 'egg’, 'lunch': 'meat'}
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({"menu.update({"breakfast":"milk" , "snack":"nut <<<

menu <<<

({"dinner': 'salad', 'breakfast>>> menu.update({"breakfast":"milk" , "snack":"nut'}

menu <<<

dinner': 'salad', 'breakfast': 'milk', 'snack': 'nut', 'lunch': 'meat'}': 'milk', 'snack': 'nut’, 'lunch':'}
{"meat
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ball.color
ball.size
ball.weight
oS 455 5> D65 sl Elgs 5o 1 ) oo iz pss g
()Ball.kick
()Ball.throw
()Ball.inflate
oslaiwl b T jI g pujluw 395 5 60l 5> |y walizo elgsl jl Gbubl 65 Cuwl Gl Lo B30 ©uiaS oS jgb jlos
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2315 03gc py ) MyClass pb b uwlS slaul (5 oiabg yj S osh8 .osS uy e b gzl ObJ
:class MyClass

MyVar=0
6 00lS L UL (5 63Lw (ulS jl b gl .3l aciibls 3929 old LSsumy oy iU GulS Sy s gl
sy uUS S by e 1o 3 35S 5o plel gyl juudo o 6S 394 o jLET Class S
28 3 1 baS ol Ll 630 adiivo MyClass (g ouwlui b 63 Cuwl 6307 olg2)s pb Class 3 g4S jI yu
Gesd 00 gzl Oy U o 5aS2d YulS jo iy yss oo jlw o 0253 MyClass. py ylgae cuzs
Coley b gulS Shgizoe a2y b3 jl oS (T g puiS (50 63laiwl = caolle jI GulUS pb I guy .39 Salgs JSois
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G0 S o8 gl gjlw 6igad P9 (5 ol>0 3)lg EadlgS 5o E2dS Layyes |y g5 olgRs LwlUS oS (giSI
1y g2 3S awhd Cuwl SIS IS ¢l gl .S slaul mylnstance pb L MyClass (wUS jl gl 65905 » i paslgS>
:P3S 3)lg

()mylnstance = MyClass

Subl obls CiBs Losls eloyl mylnstance b ou g @23,S szl I MyClass (US|l gl 63905 j1S 2l b
;S 50 gliol |y yoj 3S ashd o .3 p0S Cygro S cayyes g 0530 U515 53 3ulo 3S ol 68
(print(mylnstance.MyVar

:ElS (398 SS Uy 529> Ulgae oy

g il ol o mylnstance « b (oo Sy jis 5> MyClass GwUS g sl Sy glgie o I MyVar jusio S|
9 (1) SISy T 500151 5> g Eygly 1 i PL ol GBS T oy aw yiws gl Sy 50 65 jgb (loss g 315
S 3)lg by Sga 5l L Guuen

s gl Oy pudgs 031> 1y o lade MyVar cigan sl ou jhs 390 GwlUS 3 oS T jI (Jlio ol o
w0 L 3929 (il b .Cuwl o ylas gyl ¢l (g odgl Jlado e Cuwl GwlUS Gl jl gl 83905 65 mylnstance
S o guj JSub 0 ol G5 IS Gl (gl oSy i gzl gle L owdgl lado ool eoolgs
mylnstance.MyVar = 100

(print(mylnstance.MyVar

1397 Slg> yuj D g0 6y 62D

loo

>>>

21035 (Lg3jb b Sulyygl) Override LUkl I MyVar cugu sl 5 ealgl jlado S ¢l b o g8lg 5>

> Sl
Sy ko GullS Sy ciyyes oS puiusls g pgsai LT Python gl gs gwUS pggao b Ju8 Gjgel 5>
ol Uulwl 3y .35S gjlw 65905 | calizo gls ST e T 59 jl Olgs 0 63 Cuwl S yidao 598l
28 50 g)lw o3y oy JSuib oy ShapeClass. py ylgic wuzs esbw uwlS 3¢5 gl
:class Shape

size
09200 619> ol g sliibgs Iy Class (g 07195S Iyl 394 (50 8i>Uo (598 S 55 65 jgb (jlas
S 50 JUS YT jl gy s = Caolle Sy g oS 5o JB5 5> 395 JulS sl «JSub» ime oy Shape
GhIS 88 pul 63,5 Syl JSad g5 38S S5 5 b «oj1a31» Lo 6y SiZe glgic Cuxb e jukio Sy
;oS (5jlw 03905 3 Cygua o0 Shape wUS (59, jl plgs o JLo - 2 0dgl jlndo £g5 2um
()my_rect = Shape
()my_circle = Shape
ESuTES b gl _ New_ () sdo S o lg>hd | Shape() jgiws b oS (sloj cubids o
Oloj g gy JSI ol 39940 o lg318 T 6y audgl 93,1880 sl __iNit__() 9 335
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_init_ () a0 1 3ab (qeaiS oo ST Gl sl g il oo 1y gl gl g lio (s Sy by s
S 50 uigsjl g2 yguo oy |y Shape ywUS JUio glyr oS o5 il
:class Shape

size=2

:(def __init__(self, name, color

self.name = name
self.color = color

6 09903 5 62los S Cwl Self 3g. ;o 6315 JuUS gldsio Sy g Mo ol o 65 S3logS T gl
3195 ;0 S 39 ;0 631> _iNit__ () Mo oy Lzl logS,T T jI Uuy g cciwl GwlUS 59 jl 630k slayl
03905 35 3> (JUio glp .S 3 l8do |y Lo T JwlS ol jl 3032 ST e skl gloj s
self.name = jgiws __init__ () a0 5 6530 J> 9 Cuwl 630 6313 o ¢l &y color g name sls logS T
OlogS T Jlado oy 3ol UwUS ¢l jl eaud (gjlw 65905 ST gl NAME wgaw sl 63 35S Lo yakdo NAMeE
1380 oy 630 (gjlw sugas ST glys Iy color g sl juo self.color = color jgiws g 3. wuwiie NAMe
uwUS ol jI 1 g3ua sl Sy Tpasslgsy JSI L L35S (o wawtiio COlOT GlogS )T
S 50 Joe g yguo o S Sl
(‘shape1 = Shape('Circle','Yellow
('shape2 = Shape('Square','Green
o T 5l color g name sl g sl g sl UL lhgiws L shape2 g shapel wsxuTgs
Jlostamiwl b e 0315 audgs Jub ivjgol 33 62 gl Silo pulgs ;o JU1> -394l (50 ;8 InE0
S Iy i e 93 il (Gl g5l 1nE0 oy . jSdac
(print(shapel.name <<<
Circle
(print(shape2.color <<<
Green
Jl e ST eaypes gloj 4> 68 St (2l GlogSyT juslEo byl j3lEo ol el 50 65 jgb los
L 35S 08l ST S 60 1 (53032 g il Suiawlgs 65 Gloj y 5> 30lg5 50 Ll .u3S eslétiwl b T
SSzT oo 68 1 iduo S50 Cjlac 60) SiS B3> L adass juds | ol Gld (5l g il
23S B 5> | g oS (Yo (glh0 (32250 Tl 32362 031 s
'shape1.color = 'blue
shape1.radius =20
(del shape1.name
93 Jgiws 33 .S o wiio Shapel wiSayT oy @lstio COIOr Wgau il 00 1) 63232 Jlado Jgl jgiaws 5>
Cilgs S g S o wuine Shape T wiSaTe, Po yladio g radius g suslud b 1) 53032 g il
shape1 wsSyTey @lio NAME g sl 5193158 uoow g del 35948 jl eslaiw! L pgw jgiuws >
oo o0 [ g2 §oS 52955 JL iS50 83> s S0 ST I ) g il ol
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(print(shape1.color <<<

blue

(print(shape1.radius <<<

Po

(print(shapel.name <<<

:(Traceback (most recent call last

File "C:/SokanAcademy/MyClass.py", line 19, in

(print(shape1.name

'AttributeError: 'Shape' object has no attribute 'name

shape1 ST gls g il 6y 6300 i juslio ST Jgl jgiws 93 3 Sy 50 65 jgb jlos

ST 35S 5o PUel 65 Cuwl rlhs Pguw Ty jgiws 5295 bl 33l oxud Lo 5295 4>

Lo 63 12> Cuwl 6305 6315 iglos i ys o9 s ol g 55155 NamMe (g owlud b Gigam sl shape1

o Ll gy p oglle .39y 03,8 L83 45 3 )90 ST jI 1 g sl ol del jgiws b oyl 1 Ui

:(outiS 03 | ST Sy (gl g 51 Ca S0 gl Jo g 5l SO I ouslgh 50 <03

oS ol Ly sl ([getattr(obj, name[defaulteuSaT o gl ga 5l 60 L yiwd (gl ) iSIlEs 418
ST o Bleio g il S 6 L3l glshasattr(obj, name) us L sjls 1y ols ga sl ST S,
oy o3ub 0313 Jlsdo b (53032 Wjguanl jaf 5> g 3pS o (53232 Jlade bl 39290 Dga Sl gl JSI.gols
delattr(obj,)cS=T Sy jl e sl Sy B3> glpsetattr(obj, name,(value.sgdb o o ST
name

2300 UL gl ST 59y g2 1 b pisSols ool 5 y18

print(hasattr(shape2, 'radius')) # Returns true if 'radius' attribute exists<<<

False

print(getattr(shape1, 'radius')) # Returns value of 'radius' attribute<<<

Po

setattr(shape2, 'radius', 8) # Set attribute 'radius' at 8<<<

'delattr(shape1, 'color') # Delete attribute 'color<<<

2355 o Shape2 cisz,Tey | radius cogan ol jS 59 (92 cawl False Jgl jgiws 29,5

Cuwl shape1 ST oo @leio radius wga sl 6w 630k wawiino lado juo @9 jgiwd 29,5
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class Student: 'Common base class for all students' count = 0 def __init__(self, name,
family): self.name = name self.family = family Student.count += 1; def displayCount(self):
print("Total Student : ", Student.count) def displayStudent(self): print("Name : ", self.name,

" family: " self.salary) print("Student.__doc__:", Student.__doc_ )
print("Student.__name__:", Student.__name_ ) print("Student.__module__:",
Student.__module_ ) print("Student.__bases__:", Student.__bases_ )

(__print("Student.__dict__:", Student.__dict
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(__print("Student.__doc__:", Student.__doc

Student.__doc__: Common base class for all students <<<
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(__print("Student.__name__:", Student.__name

Student.__name__: Student <<<
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(__print("Student.__module__:", Student.__module

__Student.__module__:  main<<<
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(__print("Student.__bases__:", Student.__bases

(,<'Student.__bases__: (<class 'object<<<
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(__print("Student.__dict__:", Student.__dict
Student.__dict__: {'" module__':' main__' ' weakref ': <atiribute' weakref 'of<<<
<'Student' objects
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"this is the file "MyModule.py #
we're going to use it in another program #
:(def celsiusToFahrenheit(celsius

fahrenheit = ((celsius *9.0) /5) + 32

return Fahrenheit
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import MyModule

((" :celsius = float(input ("Enter a temperature in Celsius

(fahrenheit = MyModule.celsiusToFahrenheit(celsius

("print("That's ", fahrenheit, " degrees Fahrenheit
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Enter a temperature in Celsius: 65

That's 149.0 degrees Fahrenheit
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Enter a temperature in Celsius: 54

:(Traceback (most recent call last

File "C:/Users/Admin/Desktop/Modular.py", line 3, in

(fahrenheit = MyModule.celsiusToFahrenheit(celsius

NameError: name 'MyModule' is not defined
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